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1) TRADE THEORY

Question No. 1/ Question ID 223 Marks: 2.00
Why lime stone is added as flux to the ore in the blast furnace?
SIRE B9 H 31 § T o 0 § T TR T e ST g7
(A) O To form molten slag (Correct Alternative)

Hiee T 991 & fe (Correct Alternative)
(B) O To supply oxygen
I @ & forg

(C) O To increase the melting point of ore (Chosen Option)
3P BT AP dgM & feld (Chosen Option)

(D) O To burn the carbon in coke
PP T HIa DI ST o forg

Question No. 2 / Question ID 251 Marks: 2.00
Which factor determines the selection of wire in screw thread micrometer?

TP IS HISHIHICR BT HIH-TT GRR TG99 P WY YT BTl g2
(A) O Root and crest

o @Iﬁja@loplTl YouTube Channel

UlTeT (Chosen Option)
C) O Major diameter
T ST
(D) O Pitch of the thread (Correct Alternative)
CARUE| (Correct Alternative)

Question No. 3 / Question ID 225 Marks: 2.00
What is the upper limit of the component size?

"geh 3TPR Bl HUI AH R 872

19.995 (Chosen Option)
19.995 (Chosen Option)

(B) O 20.008 (Correct Alternative)
20.008 (Correct Alternative)

(C) O 0.005
0.005

(D) O 0.008
0.008

Question No. 4 / Question ID 234 Marks: 2.00
Which is the purest form of an iron?

AN iV =N
e T Yo Y& U DI A1 52




(A) O Castiron
CIIGI
(B) O Grey castiron
U ol gl
(C) O Wrought iron (Correct Alternative) (Chosen Option)
fEIE'EﬁﬁBT (Correct Alternative) (Chosen Option)
(D) O Pigiron
O 3R

Question No. 5/ Question ID 189 Marks: 2.00
What is the name of the die shown in the figure?

fort & ATy 10 ST &7 18 &1 82

be Channel




(A) O Half die (Correct Alternative)
g STE: (Correct Alternative)

(B) O Split die
& 315

(C) O Adjustable screw plate die
TSoRead ¥ Wic 315

(D) O Solid die (Chosen Option)
qiers ST‘&C (Chosen Option)

Question No. 6 / Question ID 261 Marks: 2.00
Which semi-permanent fasteners firmly holds the plate and steel sections?

DI T 3e-RTf BReR We 3R Wd YaH B Aolgl J Udhsdl g2
(A) O Bolt and nut (Chosen Option)
-c (Chosen Option)
(B) O Soldering
RIS

(C) O Rivet (Correct Alternative)
fYde (Correct Alternative)
(D) O Welding
afegT

Question No. 7 / Question ID 285 Marks: 2.00
Which material is used to make the jaws of three jaw chuck?

oft S a1 T P Sif 99 & T foo IrRh 1 SUAnT b STt 872

~o B dl I TiwamTube Channel

(B) O Low carbon steel
HH Hled Tid

(C) O Medium carbon steel
AT BT KA

(D) O Tool steel
RECTURSI]

Question No. 8 / Question ID 269 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?
X' feIfed WY &7 19 T 8§72




(A) O External jaw
EIRUS
(B) O Back plate

(C) O Crown wheel (Correct Alternative)
Earcs Ked | (Correct Alternative)
(D) O Body (Chosen Option)
CIE]] (Chosen Option)

be Channel

Question No. 9 / Question ID 12
What is the accuracy of protractor head in combination set?

IS AT (BIRM Ue) § Uicaer g8 &1 URYedT (TR 1 82
(A) O 1° (Correct Alternative) (Chosen Option)
1° (Correct Alternative) (Chosen Option)

(B)O o
5

(C)O 9
5

(D) O 50
50

Marks: 2.00




Question No. 10 / Question ID 167 Marks: 2.00
Which factor determines the current setting during welding?
AfET & SRME B VT B T HRS AR Har g2
(A) O Diameter of an electrode (Correct Alternative)
D[ AT (Correct Alternative)
(B) O Types of joint (Chosen Option)
= % UHR (Chosen Option)
(C)O Length of an electrode
gdaeIS DI AdTg

(D) O Position of the weld
oI fRUfd

Question No. 11 / Question ID 136 Marks: 2.00
Which flux is used for soldering steel?
s W & o o vt 1 Ui foam ofraT g2
(A) O Ammonium chloride (Correct Alternative)
(Correct Alternative)
(B) O Paste
Brsd
(C) O Zinc chloride (Chosen Option)

S FRTES (Chosen Option)

(D) O Resm

o 10 miv.dzlsldom wlube Charmnel

{3 TR &1 IRW1d AT  HH AT UGH BT 572
(A) O Preventive maintenance (Correct Alternative)
YWRYI] (Correct Alternative)
(B) O Reactive maintenance (Chosen Option)
gfafeharRiie I@RWIG (Chosen Option)
(C) O Breakdown maintenance
RECRRCIE]
(D) O Routine maintenance
RECRECIE)

Question No. 13 / Question ID 271 Marks: 2.00
Calculate spindle speed for a turning dia 40 mm cast iron rod, if the cutting speed is 15 m/min.
40 it T 910 e g DI TS b (oY S TS BT 0T B, TG HicT Wi 15 Hiey/Fe 5
(A) O 100.3 rpm
100.3 rpm
(B) O 219.3 rpm
219.3 rpm

(C) O 109.4 rpm
109.4 rpm

(D) O 119.4 rpm (Correct Alternative) (Chosen Option)
119.4 rpm (Correct Alternative) (Chosen Option)

Question No. 14 / Question ID 213 Marks: 2.00




Which bond is used in the grinding wheel of grinding mill rolls?
RIS fira A & IRfEn &1a & fovd a1 SUART o STl g2
(A) O Resinoid bond

; EIS
(B) O Shellac bond (Correct Alternative)

CIE (Correct Alternative)
(C) O Vitrified bond
(D) O Silicate bond (Chosen Option)
GRS (Chosen Option)

Question No. 15/ Question ID 76 Marks: 2.00
What type of operation is carried out in a gang drilling machine?
17 fefer 7= & fog geR &1 St forar sirar 872
(A) O Continuous milling operation

RO T g
B) O Successwe operatlon of drilling (Correct Alternative)
$1 HifS Garad (Correct Alternative)
(C) O Idle operation
LEISE]
(D) O Repeated operation of drilling (Chosen Option)
[T %] IR-dR HdTd4 (Chosen Option)

Question No. 16 / Question ID 270 Marks: 2.00

rer ROt e 1 -oer UDE Channel

(A) O Endrake angle
U8 b @Wra
(B) O Negative rake angle
P W
(C) O Side rake angle
15 ¥ W
(D) O Positive top rake angle (Correct Alternative) (Chosen Option)
qifeifed a1 ¥ WA (Correct Alternative) (Chosen Option)

Question No. 17 / Question ID 125 Marks: 2.00
What is the use of wing compass in sheet metal works?
3ffc fed Sl § faT U &1 ST 1 8?

(A) O Stepping off distances (Correct Alternative)
Q‘ﬁ'ﬂT HH BT (Correct Alternative)

(B) O To draw perpendicular line (Chosen Option)
dgad 3T I (Chosen Option)

(C) O To draw angular lines
HIUIY TQ@IT il

(D) O To draw parallel line
JIR 3T Qi

Question No. 18 / Question ID 88 Marks: 2.00
What is the spindle movement of one division of thimble with spindle thread of 0.5mm pitch?

0.5 fireft o & s O & I1Y fUred & Ush fedioq ot Risd qade Far 87




(A) O 0.01 mm (Correct Alternative)
0.01 forft (Correct Alternative)
(B) © 0.001 mm
0.001 fort
(C) O 0.5 mm (Chosen Option)
0.5 foredt (Chosen Option)

(D) O 0.02 mm
0.02 Tt

Question No. 19 / Question ID 28
What is the name of the chisel shown in the figure?

fomr o feRae U &+t &1 A1 1 82

(A) O Diamond point chisel
SIS Ulse Wil

(B) O Flat chisel
e W (Tele 1)

(C) O Web chisel (Correct Alternative)
a9 B (Correct Alternative)

(D) O Cross cut chisel (Chosen Option)
P BT B (Chosen Option)

Marks: 2.00

be Channel

Question No. 20 / Question ID 274
Which type of thread is used in the screw jack?

TP O H b TR & IS BT IUANT fobar Sfra 82
(A) O Acme thread

(B) O Vee thread
CIRE]

Marks: 2.00




(C) O Square thread (Correct Alternative) (Chosen Option)
IR AS (Correct Alternative) (Chosen Option)

(D) O Knuckle thread
I IS

Question No. 21 / Question ID 123 Marks: 2.00
Which shearing machine is advantageous for single or continuous cutting action?

B It R 7= e a1 FROR B1eq &t fivar & forw wraeHe 87
(A) O Squaring shear
PHR RRR

(B) O Guillotine shears (Correct Alternative)
firefes Rrr (Correct Alternative)
(C) O Bench shear (Chosen Option)
9 AR (Chosen Option)
(D) © Hand lever shear
'S ]

Question No. 22 / Question ID 152 Marks: 2.00
Which colour is painted on the acetylene gas cylinders?
TRifeaH T Ridsr R & 91 ¥ Ue fhar Sirn g2
(A) O Maroon (Correct Alternative)
(Correct Alternative)
B) O Green

mﬁlobal iTi YouTube Channel

(D) O Black (Chosen Option)
DIl (Chosen Option)

Question No. 23 / Question ID 215 Marks: 2.00
What is the advantage of mass production?
IS UAM W MG P BIIGT R 572
(A) O Spare parts can be quickly made available (Correct Alternative)
] T IUAH HIIT T IHd g (Correct Alternative)
(B) O Initial expenditure is high (Chosen Option)
‘{LFGiTEﬁ‘\?.ﬁf GﬁW% Chosen Option)

(C) O Jig and fixtures
foRT 3R fhaer

(D) O Gauges are used
ST T TANT foh T STl §

Question No. 24 / Question ID 103 Marks: 2.00
What is the name of the supporting tool shown in the figure?

i & fae U GgTas IUBRUT BT ATH HIT 82




Channel

(B) O Hatchet stake (Chosen Option)
%ﬁl’d TP (Chosen Option)

(C) O Half moon stake (Correct Alternative)
eI H1 TP (Correct Alternative)

(D) O Round bottom stake
R3S dicH Wb

Question No. 25 / Question ID 105 Marks: 2.00
Which sheet metal is easier to joint using soldering?
ST BT UGN F b o e YT B SIS S 82
(A) O Tinned plate (Correct Alternative)
feswe (Correct Alternative)
(B) O Lead sheet
SR
(C) O Galvanised iron sheet
TedTess TR Xte

(D) O Stainless steel sheet (Chosen Option)
L0 i 2Me (Chosen Option)

Question No. 26 / Question ID 3 Marks: 2.00
What does “A” denote in the ABC of the first aid?
T fferr & ABC & "A" RIT I 872




(A) O Attention
Attention

(B) O Arresting
Arresting

(C) O Air way (Correct Alternative) (Chosen Option)
Air way (Correct Alternative) (Chosen Option)

(D) O Atmosphere
Atmosphere

Question No. 27 / Question ID 185 Marks: 2.00
Which method is suitable to remove the broken stud that is very near to the surface?
g & 9gd HUF ¢ gU TS DI g & fod S 9 fafyy Sugad 872
(A) O Ezy out method

Tofl 3113 fafe
(B) O Making drill hole
fod gidt S
(C) O Using square taper punch (Chosen Option)
WHIOR TR U9 BT IYTNT (Chosen Option)
(D) O Prick punch method (Correct Alternative)
fire u= fafr (Correct Alternative)

Question No. 28 / Question ID 55 Marks: 2.00
Why surface plates are made of up of stress-relieved, good quality cast iron?

WY W q19-Tad, 373! TUIaHT aTd HRE AR 1§15 Il 82

i’;ii @mfm!m YouTube Channel

I fawdR &1 b & forg
(C) O To prevent distortion (Correct Alternative)

Pl AP &b ﬁl‘l! (Correct Alternative)

(D) O To prevent corrosion (Chosen Option)

&RUT B b o feTT (Chosen Option)

Question No. 29 / Question ID 70 Marks: 2.00
Which mechanical property of metal has the ability to withstand wear and abrasion?
HTq & fbg Fifes T § forTa 3R 9801 &Y e BT &FdT Bt 87
(A) O Toughness (Chosen Option)
5U- (Chosen Option)
(B) O Hardness (Correct Alternative)
(Correct Alternative)
(C) O Malleability
S IBIGE
(D) O Brittleness

HIRAT

Question No. 30 / Question ID 322 Marks: 2.00
Which is used as vibration isolation material?
HU GYFHROT AU & FU B foraesT TaNT fasa ST 872
(A) O Nylon
BILKIR]




(B) O Brass (Chosen Option)
diad (Chosen Option)
(C) O Plastic

(D) O Rubber (Correct Alternative)
XdS (Correct Alternative)

Question No. 31 / Question ID 146 Marks: 2.00

Where is the sweat soldering process applied?
e oS ufshar Sgl ar] fbar St 57
(A) O Reworking of ornaments

MY &1 GF: B
(B) O Electrical soldering work

g QST SRl

(C) O Body repairing workshops (Correct Alternative)

TSt Bt AW THITY (Correct Alternative)

(D) O Joining of tool bits (Chosen Option)
cd 3R cd faEF CARSISE] (Chosen Option)

Question No. 32 / Question ID 101 Marks: 2.00
Which stake is used to form an arc of a circle bevelled along one side?
TP & & 1Y TP b & a9 B - & (018 fohg T DT IUANT ol STl 572
A) O Beak iron (Chosen Option)
il 1 faeh SR (Chosen Option)

oo &idbal iTi YouTube Channel

(C) O Half moon stake (Correct Alternative)
el {4 TH (Correct Alternative)

(D) O Funnel stake
B Wb

Question No. 33 / Question ID 182 Marks: 2.00
What is the purpose of clearance angle in twist drill?
fowe {3 & RiT Tret &1 3539 1 67
(A) O To prevent drill friction behind the cutting edges (Correct Alternative)
Tl Ul G i) %ﬂ YT B AP & ﬁl’(’ (Correct Alternative)
(B) O To prevent rough holes
YRR I P AP & g
(C) O To prevent unequal angle of cutting edges (Chosen Option)
P TS & 3RTHM WA B! A+ & [T (Chosen Option)
(D) O To prevent over sized holes

§S THR & BIcd B b+ & ol

Question No. 34 / Question ID 58 Marks: 2.00
Which metal cutting saw is used to cut large cross section area?

g Ted BT If &1 IUTNT 98 B YA & P dled & forg fHar Srar g2
(A) O Contour saw

SR Il




(B) O Horizontal band saw
giikelica S Ir
(C) O Circular saw (Correct Alternative) (Chosen Option)
ﬁ(Correct Alternative) (Chosen Option)
(D) O Power saw
UfaR 9l

Question No. 35/ Question ID 90 Marks: 2.00
What is the reading of the outside micrometer 50mm to 75mm shown in the figure?

o 7 fezame U 918t ArswiHieR 50 et 9 75 faedt o e = 82

be Channel

(A) O 63.63 mm (Correct Alternative)
63.63 mm (Correct Alternative)

(B) O 63.13 mm
63.13 mm

(C) O 63.00 mm (Chosen Option)
63.00 mm (Chosen Option)

(D) ©O 63.36 mm
63.36 mm

Question No. 36 / Question ID 157 Marks: 2.00
Which hand tool is used to handle the hot metal in welding?
AT & T 41 DT FUT & Y T 8% IUSHRT ST IUTIT fohar S g2
(A) O Tongs (Correct Alternative) (Chosen Option)
iRl| (Correct Alternative) (Chosen Option)




(B) O Snips
R
(C) O Shawel

(D) O Poker

Question No. 37 / Question ID 21 Marks: 2.00
Which process breaks down the materials into organic compounds that are used as manure?
DI It uferar Il B w1 A § dis <dt § fHwT Iuai [re & =u § faar ST 87
(A) O Composting (Correct Alternative)
T (Correct Alternative)
(B) O Burning waste material
gerd STer
(C) O Recycling (Chosen Option)
T (Chosen Option)
(D) O Land fills

Question No. 38 / Question ID 13 Marks: 2.00
Which punch is used for witness marks?
= feem & fore forg o &1 SuaT foran ST 82
A) O P|n punch (Chosen Option)
Ud (Chosen Option)

VO @&Lﬁa‘lﬁ;ﬁ’ﬁ YouTube Channel

(C) O Centre punch
d ug

(D) O Bell punch
o U

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 333 Marks: 2.00
What is termed as the quantity of matter contained in a body?
% # Ffed uerd &t A ®I F 1 e o 82
(A) O Specific gravity (Chosen Option)

[¥dd (Chosen Option)
(B) O Density
Ydd
(C) O Volume
SAd-
(D) O Mass (Correct Alternative)
SSIHTT (Correct Alternative)

Question No. 2 / Question ID 335 Marks: 2.00
What is the ratio of power output to power input?
fE 3H3eYe 3R AfHK 3AYE BT SUTd T8Il 872
(A) O Acceleration
[CRY}




(B) O Efficiency (Correct Alternative)
Q&[T (Correct Alternative)
(C) O Energy (Chosen Option)
(Chosen Option)
(D) O Work
Gap|

Question No. 3 / Question ID 342 Marks: 2.00
What is the side of a square whose area is 625mm?2?

U i ot Yol o1 gt et vt 625 fonfi2 g2

(A) O 15mm
15 mm

B) O 20 mm
20 mm

(C) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)

(D) O 30 mm
30 mm

Question No. 4 / Question ID 330 Marks: 2.00
How many millimetres are there in 1 inch?
139 ¥ o fiycfitier g1a 87
(A) O 2.54 mm (Chosen Option)
2.54 mm (Chosen Option)

“°%atobal iTi YouTube Channel

25.4 mm (Correct Alternative)

(D) O 24.5mm
24.5 mm

Question No. 5/ Question ID 334 Marks: 2.00
What is called mass per unit volume of a substances?
forlt e & Soawm Ul 3@TS SIaa &1 1 FEd 572
(A) O Volume (Chosen Option)

HIId (Chosen Option)
(B) O Mass
SSUHTT
(C) O Density (Correct Alternative)
Ydd (Correct Alternative)
(D) O Weight
HR

Question No. 6 / Question ID 345 Marks: 2.00
Which is equal to sinB8?

sind fohg & aRI&R a1 872
(A) O




(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

(€) O

3) ENGINEERING DRAWING

Question No. 1 / Question ID 362 Marks: 2.00
Identify the name of tool?
JUSHU BT A1 TgarH?

e Channel




(A) O Cross pein hammer
EAG R R
(B) O Mallet (Correct Alternative) (Chosen Option)
ET&_ﬂ G| B'Qﬁ?;T (Correct Alternative) (Chosen Option)
(C) O Staright pein hammer
we iH g
(D) O Ball pein hammer
Sid U &R

Question No. 2 / Question ID 359 Marks: 2.00
|dentify the name of tool?
JUHRU] BT A9 UgdH?

e Channel

(A) O Try square (Correct Alternative) (Chosen Option)
EI?._!"s: ) '{[ﬁ'CIT (Correct Alternative) (Chosen Option)
(B) O Surface gauge
g AU 1 I
(C) O Feeler gauge
HIER T

(D) O éteel rulé
I =

Question No. 3 / Question ID 347 Marks: 2.00
Identify the conventional symbol of material?

o | feRare U 9l & URURS Udies &1 Udl Tme?




A) O Glass

o Gfb allLLYouTube Channel

ption)
(Correct Alternative) (Chosen Optlon
(D) O Asbestos

(€) O

Question No. 4 / Question ID 354 Marks: 2.00
Identify the conventional symbol of material?

I & URURSD Udih Dl UgaH?




(A) O Glass (Correct Alternative) (Chosen Option)
&PId (Correct Alternative) (Chosen Option)
B) O Wood

‘”Oﬁlobal iTi YouTube Channel

(D) O Concrete

Question No. 5/ Question ID 350 Marks: 2.00
Identify the name of set square?
e TWHRR BT 19 TGhoi?




(A) O 30° set square
30° Y WY

" Gigbal iTi YouTube Channel

(C) O 45° set square (Correct Alternative)
45° JT WPTAR (Correct Alternative)
(D) O 15° set square (Chosen Option)
15° Fe WP (Chosen Option)

Question No. 6 / Question ID 360
Identify the name of tool?
SYDIU] hT AMH l-IEitII"I".?

Marks: 2.00




(A) O Straight pein hammer
U gdIsT
(B) O Cross pein hammer
1Y 0 R
©) O BaII pe|n hammer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

”>Oﬁi®bal iTi YouTube Channel

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 473 Marks: 2.00
Which one is considered to be a good communication?
DI I TH 3BT JGR AT ST 872
(A) O Message is ambiguous
= R 7
(B) O Receiver doesn't listen to sender
Tl UND DI gl A1
(C) O Sender is positive towards receiver (Correct Alternative) (Chosen Option)
& Ufd TUd THRTHD % (Correct Alternative) (Chosen Option)
(D) O Sender attacks receiver
U b RETeR TR GHAT BT

Question No. 2 / Question ID 492 Marks: 2.00
Same situation people should be treated in the sameway

T S UMY a1 Y & 1Y Ueh ST oqaeR fapa ST =R,

(A) O society
HHIST

(B) O unity (Chosen Option)
U dl (Chosen Option)
(C) O status




(D) O equality (Correct Alternative)
HHTAT (Correct Alternative)

Question No. 3/ Question ID 479 Marks: 2.00
Which one is NOT an essential characteristic to achieve success?
AT T B P foTT i T SMTaRID &0 gl 872
(A) O Commitment

(B) O Confidence (Chosen Option)
Y (Chosen Option)
(C) O Unethical work (Correct Alternative)

CLg (Correct Alternative)
(D) O Integrity
Question No. 4 / Question ID 499 Marks: 2.00
RTl is
RTIS....|

(A) O Right Tern Information
Right Tern Information

(B) O Read To Information
Read To Information

(C) O Ready To Information
Ready To Information

 GlobalitrYouitbe Channel

Question No. 5/ Question ID 422 Marks: 2.00
Word that is pronounced the same as another word but differs in meaning is called
I8 eg Sl Tl GER RTeq & FHM BId §, i1 31 H et gt ©, fordy I ST ©

(A) O homophone (Correct Alternative)
b1 (Correct Alternative)
(B) O syllable
REAR
(C) O homograph (Chosen Option)
h (Chosen Option)
(D) O diphthong

Hgdd W}
Question No. 6 / Question ID 410 Marks: 2.00
When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use
S 3T &, Uiieres a1 gHiaers ok S SIETRAT BT SHfiared HRd &, o D! Cal

SUINT HAT 1Y




(A) O Good morning (Correct Alternative)
Good morning (Correct Alternative)
(B) O Hello (Chosen Option)
Hello (Chosen Option)
(C) O Hey
Hey

(D) O Hi
Hi

Question No. 7 / Question ID 520 Marks: 2.00
The expansion of WAN is
"WAN" &1 faIR § -

(A) O Wide Area Name
Wide Area Name

(B) ©O Web Assigned Name
Web Assigned Name

(C) O Web Aided Network
Web Aided Network

(D) O Wide Area Network (Correct Alternative) (Chosen Option)
Wide Area Network (Correct Alternative) (Chosen Option)

Question No. 8 / Question ID 486 Marks: 2.00
Which one of these phrases is not related to a telephone call?

S0 O BI-91 I Th TP Bidt A Jeierd Tl 872
(A) O Pickup

o &tobal iTi YouTube Channel

(C) O Hold on
BIeS 3
(D) O Make up (Correct Alternative) (Chosen Option)
3T (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 420 Marks: 2.00
Which one is NOT a vowel?
B AT WR TET 82
(A) O i
i
(B) O f(Correct Alternative) (Chosen Option)
f (Correct Alternative) (Chosen Option)

(C) O
(D) O

o)

® DO QO

Question No. 10 / Question ID 529 Marks: 2.00
Where all deleted files will be stored?

Taft foefie ot mft wied Fel WR (@Usia) &t omaEf?
(A) O CD




(B) O Personal folder (Chosen Option)
Td (@%"Tﬂ) PR (Chosen Option)
(C) O Recycle bin (Correct Alternative)
fom (Correct Alternative)
(D) O Official folder
(SHTIBTRD) I

Question No. 11 / Question ID 427 Marks: 2.00
When someone says 'Thank you' we should reply and say .
1§ B1S "Thank you (4=IdTg) W%Eﬁeﬁmﬁaﬁmﬁ? HgT ARyl
(A) O Thank you. (Chosen Option)
(Chosen Option)

(B) O Bye-bye

EIRECIH
(C) O How are you?

310 B4 82
(D) O You're welcome. (Correct Alternative)

STAHRT HRTd % (Correct Alternative)

Question No. 12 / Question ID 571 Marks: 2.00

You have greeted the customer. Choose which of the following statements you should use to complete
the greeting.

%mmﬁwﬁa‘?%l e B 1 B & o 3muen! g § | 59wy &1 U 3 =nfey
|

- Global-rFYouwtube Channel

(O Can you come later
T 39 91 § 31 9hd 5
(C) O What do you want?
310 &7 316 872
(D) O Why have you come? (Chosen Option)
3T Y 3T 82 (Chosen Option)

Question No. 13 / Question ID 515 Marks: 2.00
In which orientation, the text is printed width wise?
forg aifkuee (ififaam) #, ¢we (Ure) A ar fie @) garg?
(A) O Margin (Chosen Option)
(Chosen Option)
(B) O g'—;ﬁg
(C) O Landscape (Correct Alternative)
' (Correct Alternative)
(D) O Portrait
gice

~

Question No. 14 / Question ID 471 Marks: 2.00
Which one is a Do’s in interview etiquette?
e Ufedhe B Do’'s T 82
A) O Be confldent (Correct Alternative) (Chosen Option)
¥eHI (Correct Alternative) (Chosen Option)




(B) O Too excessive in gesture
§gd SUTaT 3R AT

(C) O Dress too casually
STGT HY3Id BUS Ul

(D) O Lie about abilities to get job
T g & forg mﬁ%aﬁﬁ@aﬁw

Question No. 15/ Question ID 536 Marks: 2.00
Which one is a web browser?

B U IS SR 87
(A) O Face book

(B) O Internet explorer (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Outlook express

33T LRI
(D) O H\gt mail

Question No. 16 / Question ID 373 Marks: 2.00
A person with a growth mlndset is always willing to

TS [T AFRIGdT arel fad g0l ... IR Ed el
(A) O become rich

O@*ﬁﬁ“’ﬂl YouTube Channel

(C) O relax
SIRTH
(D) O grow, change, learn (Correct Alternative)
) et (Correct Alternative)

Question No. 17 / Question ID 383 Marks: 2.00
To grow yourself you must
3T 37T 1[I RId B & forw oy =fRw ... |
(A) O know your institute
30 HRIT DI S
(B) O know your country (Chosen Option)
30 TR DI S (Chosen Option)
(C) O know yourself (Correct Alternative)
Ya CakIE] (Correct Alternative)

(D) O know your office
3 BT Bl o

Question No. 18 / Question ID 558 Marks: 2.00
MSME stands for
MSME BT 3 ...
(A) O Minor, Small and Medium Enterprises (Chosen Option)
Minor, Small and Medium Enterprises (Chosen Option)

(B) O Micro, Small and Medium Enterprises (Correct Alternative)
Micro, Small and Medium Enterprises (Correct Alternative)




(C) O
(D) O

Macro, Small and Medium Enterprises
Macro, Small and Medium Enterprises

Micro, Scale and Medium Enterprises
Micro, Scale and Medium Enterprises

Question No. 19 / Question ID 438 Marks: 2.00
What is stress?
a9 T 82

(A) O
(B) O
(C)O

(D) O

Feeling of surprise

3y B YL

Feeling of frustration / disappointment (Correct Alternative) (Chosen Option)
o=/ fART=IT FY Yra (Correct Alternative) (Chosen Option)

Feeling of joy

3{THg & rgufd

Feeling of delight

3fTic &1 3rgyfd

Question No. 20 / Question ID 583 Marks: 2.00
Which of the following websites are not popular for finding jobs?

fRofifad 7 @ &9 IO d9dge Aot o & T e T8t 872

(A) O
(B) O
(€) O
(D) O

Naukri.com
Naukri.com

LinkedIn.com
Linkedln.com

tratsalcrti YouTube Channel

Twitter.com (Correct Alternative)

Question No. 21 / Question ID 534 Marks: 2.00
Which one is a search engine?

P Th I Io1 87

(A) O
(B) O
(€) O

(D) O

Google (Correct Alternative) (Chosen Option)
T[ITdT (Correct Alternative) (Chosen Option)
Hotmail

gleHd

Flicker

Face book

Question No. 22 / Question ID 379 Marks: 2.00
People from all religions or no religions are treated equally means

Tt ot 1 fopadt +ft e & Tl o WY qH SIagR gl fhar STar g ... AR o
(A) O religious

(B) O secular country (Correct Alternative)

& =T (Correct Alternative)

(C) O democratic (Chosen Option)

(Chosen Option)




(D) O non secular
&

Question No. 23 / Question ID 560 Marks: 2.00
The enterprises engaged in the production of goods is known as
OTd & IdTe- 8 o ST Y ... & ATH Y ST 71l g |
(A) O service enterprises

a1 ITH
(B) ©O macro enterprises
Rl 3IH
(C) O micro enterprises (Chosen Option)
3ifa t"iﬂ?@lﬁ"’[ (Chosen Option)
(D) O manufacturing enterprise (Correct Alternative)
3<IH (Correct Alternative)

Question No. 24 /| Question ID 405 Marks: 2.00
Low level language is also called .

49 TR Bt U DI 't HeT T 8
(A) O machine language (Correct Alternative) (Chosen Option)
HTHT (Correct Alternative) (Chosen Option)
(B) O middle ware
HEOR
(C) O source code

oo @gtral iTi YouTube Channel

Question No. 25 / Question ID 546 Marks: 2.00
Which function key allows you to rename a file?
P A AR Foil 3TUD! fhdl BId B A dea- dI A Sl 82
(A) O F3 (Chosen Option)
F3 (Chosen Option)
(B) O F2 (Correct Alternative)
F2 (Correct Alternative)

(C)O F1
F1

(D) O F4
F4




